Attachment 9: HEO-1A Downlink PFD mask

Note:
Mask id		Frequency (MHz)	
8		17800-18600		
9		19700-20200		



<pfd_mask 
mask_id="8" 
low_freq_mhz="17800"  
high_freq_mhz="18600"    
refbw_khz="4"
type="alpha_deltaLongitude" 
a_name="latitude" 
b_name="alpha" 
c_name="deltaLongitude">

<by_a a="34">
   <by_b b="34.63">
	<pfd c="0">-999</pfd> 
    </by_b>
    <by_b b="36.88">
	<pfd c="–10">–999</pfd> 
     	<pfd c="10">–999</pfd> 
    </by_b>
        <by_b b="45.90">
	<pfd c="–30">–999</pfd> 
     	<pfd c="30">–999</pfd> 
    </by_b>
        <by_b b="62.11">
	<pfd c="–50">–999</pfd> 
     	<pfd c="50">–999</pfd> 
    </by_b>
        <by_b b="81.03">
	<pfd c="–70">–999</pfd> 
     	<pfd c="70">–999</pfd> 
    </by_b>
        <by_b b="100.89">
	<pfd c="–90">–999</pfd> 
     	<pfd c="90">–999</pfd> 
    </by_b>
</by_a>

<by_a a="34.7">
      <by_b b="35.56">
	<pfd c="0">–145.8</pfd> 
    </by_b>
       <by_b b="38.72">
	<pfd c="0">–145.1</pfd> 
    </by_b>
       by_b b="37.75">
	<pfd c="-10">–145.8</pfd> 
	<pfd c="10">–145.8</pfd> 
    </by_b>
        <by_b b="40.13">
	<pfd c="–10">–145.1</pfd> 
     	<pfd c="10">–145.1</pfd> 
    </by_b>
        <by_b b="46.61">
	<pfd c="–30">–145.4</pfd> 
     	<pfd c="30">–145.4</pfd> 
    </by_b>
        <by_b b="49.87">
	<pfd c="–30">–145.1</pfd> 
     	<pfd c="30">–145.1</pfd> 
    </by_b>
      <by_b b="62.57">
	<pfd c="–50">–145.2</pfd> 
     	<pfd c="50">–145.2</pfd> 
    </by_b>
      <by_b b="64.68">
	<pfd c="–50">–145.1</pfd> 
     	<pfd c="50">–145.1</pfd> 
    </by_b>
       <by_b b="81.26">
	<pfd c="–70">–145.1</pfd> 
     	<pfd c="70">–145.1</pfd> 
    </by_b>
       <by_b b="100.9">
	<pfd c="–90">–145.1</pfd> 
     	<pfd c="90">–145.1</pfd> 
   </by_b>
</by_a>

<by_a a="40">
       <by_b b="41.81">
	<pfd c="0">–146.4</pfd> 
    </by_b>
       <by_b b="45.26">
	<pfd c="0">–145.8</pfd> 
    </by_b>
       <by_b b="43.62">
	<pfd c="-10">–146.4</pfd> 
	<pfd c="10">–146.4</pfd> 
    </by_b>
       <by_b b="46.41">
	<pfd c="-10">–145.8</pfd> 
	<pfd c="10">–145.8</pfd> 
    </by_b>
       <by_b b="51.53">
	<pfd c="-30">–146.1</pfd> 
	<pfd c="30">–146.1</pfd> 
    </by_b>
       <by_b b="54.64">
	<pfd c="-30">–145.8</pfd> 
	<pfd c="30">–145.8</pfd> 
    </by_b>
       <by_b b="65.77">
	<pfd c="-50">–145.9</pfd> 
	<pfd c="50">–145.9/pfd> 
    </by_b>
       <by_b b="67.73">
	<pfd c="-50">–145.8</pfd> 
	<pfd c="50">–145.8</pfd> 
    </by_b>
       <by_b b="82.84">
	<pfd c="-70">–145.8</pfd> 
	<pfd c="70">–145.8</pfd> 
     </by_b>
       <by_b b="100.99">
	<pfd c="-90">–145.9</pfd> 
	<pfd c="90">–145.9</pfd> 
        </by_b>
</by_a>
<by_a a="50">
       <by_b b="57.31">
	<pfd c="0">–147.1</pfd> 
    </by_b>
       <by_b b="53.57">
	<pfd c="0">–147.6</pfd> 
    </by_b>
       <by_b b="58.1">
	<pfd c="-10">–147.1</pfd> 
	<pfd c="10">–147.1</pfd> 
    </by_b>
       <by_b b="54.92">
	<pfd c="10">–161.9</pfd>
	<pfd c="-10">–161.9</pfd> 
    </by_b>
       <by_b b="63.99">
	<pfd c="-30">–147.6</pfd>
	<pfd c="30">–147.6</pfd> 
    </by_b>
       <by_b b="61.1">
	<pfd c="-30">–147.3</pfd>
	<pfd c="30">–147.3</pfd> 
    </by_b>
       <by_b b="73.95">
	<pfd c="-50">–147.1</pfd>
	<pfd c="50">–147.1</pfd> 
    </by_b>
       <by_b b="72.19">
	<pfd c="-50">–147.2</pfd>
	<pfd c="50">–147.2</pfd> 
    </by_b>
       <by_b b="85.98">
	<pfd c="-70">–147.1</pfd>
	<pfd c="70">–147.1</pfd> 
    </by_b>
       <by_b b="100.89">
	<pfd c="-90">–147.2</pfd>
	<pfd c="90">–147.2</pfd> 
    </by_b>
<by_a a="63.4">
       <by_b b="71.65">
	<pfd c="0">–148.8</pfd> 
    </by_b>
       <by_b b="69.06">
	<pfd c="0">–148.8</pfd> 
    </by_b>
       <by_b b="72.11">
	<pfd c="-10">–148.8</pfd>
 	<pfd c="10">–148.8</pfd> 
    </by_b>
       <by_b b="70.82">
	<pfd c="-10">–148.8</pfd>
 	<pfd c="10">–148.8</pfd> 
    </by_b>
       <by_b b="75.6">
	<pfd c="-30">–148.8</pfd>
 	<pfd c="30">–148.8</pfd> 
    </by_b>
       <by_b b="73.73">
	<pfd c="-30">–148.8</pfd>
 	<pfd c="30">–148.8</pfd> 
    </by_b>
       <by_b b="81.88">
	<pfd c="-50">–148.8</pfd>
 	<pfd c="50">–148.8</pfd> 
    </by_b>
       <by_b b="80.80">
	<pfd c="-50">–148.8</pfd>
 	<pfd c="50">–148.8</pfd> 
    </by_b>
       <by_b b="89.89">
	<pfd c="-70">–148.8</pfd>
 	<pfd c="70">–148.8</pfd> 
    </by_b>
     <by_b b="99.98">
	<pfd c="-90">–148.8</pfd>
 	<pfd c="90">–148.8</pfd> 
        </by_b>
</by_a>
</pfd_mask>
</satellite_system>


<satellite_system ntc_id="12345678" sat_name="SE-6 HEO-1A">

<pfd_mask 
mask_id="9" 
low_freq_mhz="19700"
high_freq_mhz="20200"
[bookmark: _GoBack]refbw_khz="4"
type="alpha_deltaLongitude" 
a_name="latitude" 
b_name="alpha" 
c_name="deltaLongitude">

<by_a a="34">
   <by_b b="34.63">
	<pfd c="0">-999</pfd> 
    </by_b>
    <by_b b="36.88">
	<pfd c="–10">–999</pfd> 
     	<pfd c="10">–999</pfd> 
    </by_b>
        <by_b b="45.90">
	<pfd c="–30">–999</pfd> 
     	<pfd c="30">–999</pfd> 
    </by_b>
        <by_b b="62.11">
	<pfd c="–50">–999</pfd> 
     	<pfd c="50">–999</pfd> 
    </by_b>
        <by_b b="81.03">
	<pfd c="–70">–999</pfd> 
     	<pfd c="70">–999</pfd> 
    </by_b>
        <by_b b="100.89">
	<pfd c="–90">–999</pfd> 
     	<pfd c="90">–999</pfd> 
    </by_b>
</by_a>
<by_a a="34.7">
      <by_b b="35.56">
	<pfd c="0">–145.8</pfd> 
    </by_b>
       <by_b b="38.72">
	<pfd c="0">–145.1</pfd> 
    </by_b>
       by_b b="37.75">
	<pfd c="-10">–145.8</pfd> 
	<pfd c="10">–145.8</pfd> 
    </by_b>
        <by_b b="40.13">
	<pfd c="–10">–145.1</pfd> 
     	<pfd c="10">–145.1</pfd> 
    </by_b>
        <by_b b="46.61">
	<pfd c="–30">–145.4</pfd> 
     	<pfd c="30">–145.4</pfd> 
    </by_b>
        <by_b b="49.87">
	<pfd c="–30">–145.1</pfd> 
     	<pfd c="30">–145.1</pfd> 
    </by_b>
      <by_b b="62.57">
	<pfd c="–50">–145.2</pfd> 
     	<pfd c="50">–145.2</pfd> 
    </by_b>
      <by_b b="64.68">
	<pfd c="–50">–145.1</pfd> 
     	<pfd c="50">–145.1</pfd> 
    </by_b>
       <by_b b="81.26">
	<pfd c="–70">–145.1</pfd> 
     	<pfd c="70">–145.1</pfd> 
    </by_b>
       <by_b b="100.9">
	<pfd c="–90">–145.1</pfd> 
     	<pfd c="90">–145.1</pfd> 
   </by_b>
</by_a>
<by_a a="40">
       <by_b b="41.81">
	<pfd c="0">–146.4</pfd> 
    </by_b>
       <by_b b="45.26">
	<pfd c="0">–145.8</pfd> 
    </by_b>
       <by_b b="43.62">
	<pfd c="-10">–146.4</pfd> 
	<pfd c="10">–146.4</pfd> 
    </by_b>
       <by_b b="46.41">
	<pfd c="-10">–145.8</pfd> 
	<pfd c="10">–145.8</pfd> 
    </by_b>
       <by_b b="51.53">
	<pfd c="-30">–146.1</pfd> 
	<pfd c="30">–146.1</pfd> 
    </by_b>
       <by_b b="54.64">
	<pfd c="-30">–145.8</pfd> 
	<pfd c="30">–145.8</pfd> 
    </by_b>
       <by_b b="65.77">
	<pfd c="-50">–145.9</pfd> 
	<pfd c="50">–145.9/pfd> 
    </by_b>
       <by_b b="67.73">
	<pfd c="-50">–145.8</pfd> 
	<pfd c="50">–145.8</pfd> 
    </by_b>
       <by_b b="82.84">
	<pfd c="-70">–145.8</pfd> 
	<pfd c="70">–145.8</pfd> 
     </by_b>
       <by_b b="100.99">
	<pfd c="-90">–145.9</pfd> 
	<pfd c="90">–145.9</pfd> 
        </by_b>
</by_a>
<by_a a="50">
       <by_b b="57.31">
	<pfd c="0">–147.1</pfd> 
    </by_b>
       <by_b b="53.57">
	<pfd c="0">–147.6</pfd> 
    </by_b>
       <by_b b="58.1">
	<pfd c="-10">–147.1</pfd> 
	<pfd c="10">–147.1</pfd> 
    </by_b>
       <by_b b="54.92">
	<pfd c="10">–161.9</pfd>
	<pfd c="-10">–161.9</pfd> 
    </by_b>
       <by_b b="63.99">
	<pfd c="-30">–147.6</pfd>
	<pfd c="30">–147.6</pfd> 
    </by_b>
       <by_b b="61.1">
	<pfd c="-30">–147.3</pfd>
	<pfd c="30">–147.3</pfd> 
    </by_b>
       <by_b b="73.95">
	<pfd c="-50">–147.1</pfd>
	<pfd c="50">–147.1</pfd> 
    </by_b>
       <by_b b="72.19">
	<pfd c="-50">–147.2</pfd>
	<pfd c="50">–147.2</pfd> 
    </by_b>
       <by_b b="85.98">
	<pfd c="-70">–147.1</pfd>
	<pfd c="70">–147.1</pfd> 
    </by_b>
       <by_b b="100.89">
	<pfd c="-90">–147.2</pfd>
	<pfd c="90">–147.2</pfd> 
    </by_b>
<by_a a="63.4">
       <by_b b="71.65">
	<pfd c="0">–148.8</pfd> 
    </by_b>
       <by_b b="69.06">
	<pfd c="0">–148.8</pfd> 
    </by_b>
       <by_b b="72.11">
	<pfd c="-10">–148.8</pfd>
 	<pfd c="10">–148.8</pfd> 
    </by_b>
       <by_b b="70.82">
	<pfd c="-10">–148.8</pfd>
 	<pfd c="10">–148.8</pfd> 
    </by_b>
       <by_b b="75.6">
	<pfd c="-30">–148.8</pfd>
 	<pfd c="30">–148.8</pfd> 
    </by_b>
       <by_b b="73.73">
	<pfd c="-30">–148.8</pfd>
 	<pfd c="30">–148.8</pfd> 
    </by_b>
       <by_b b="81.88">
	<pfd c="-50">–148.8</pfd>
 	<pfd c="50">–148.8</pfd> 
    </by_b>
       <by_b b="80.80">
	<pfd c="-50">–148.8</pfd>
 	<pfd c="50">–148.8</pfd> 
    </by_b>
       <by_b b="89.89">
	<pfd c="-70">–148.8</pfd>
 	<pfd c="70">–148.8</pfd> 
    </by_b>
     <by_b b="99.98">
	<pfd c="-90">–148.8</pfd>
 	<pfd c="90">–148.8</pfd> 
        </by_b>
</by_a>
</pfd_mask>
</satellite_system>
